16.2 Fourier
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yu) [-6,6] y(U)-yw(0+)  w(-u)-y(0-) [0,6]
Dirichlet
Dirichlet w(u)
w(u) [0,6] 6, €(0,6) y(u) [0,6]
Dirichlet [6,,61 w(u)
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IimrMsin pudu
p—>od0 u

= IimjﬁlMsin pudu + Iimjgwsin pudu =0
p—od0 u p—ow d o u
5 Lipschitz

a=1 Iirrgf(x+u)_f(x+)=A 5>0  0<u<g,
u— u
| f(x+u)- F) g

u
L = A +1

| f(x+u)-f(x+) <L |u]
0,>0 L,>0 O<u<o,
| f(x-u)-f(x) <L, |u]
o=min{s,,0,} L=max{L,L,} O<u<d
| f(xxu)—f(xx)|<L|u]|
f(x) Lipschitz
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Fourier

Dirichlet-Jordan

2 Fourier

1, xe(0,7),
0, x=0,%r, |cosx| xe[-m, 7]
-1, xe(-x0),
x>,
—_— X — s
5 Vs €[-=, 7]



0, x €[0, 7), bx, x [0, 7),
2 x=4x, b-a)Z, x=4r,
2 2
X, X € (-7,0), ax, X € (-7,0),
Fourier
X+z, xe(0,7r), e, x € (0, 7),
0, x=0,%r, 0, x=0,%r,
X—m, Xe(-x,0), —e”, X € (-x,0),
2X, XE(—%,%), y
T
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0, X=+1, 5o xeOd)
f(x)= P 0, x=0,xe[1 2]U[-2,-1],
T, XE(EJZ'), X
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2
-7, Xe(-m,—=),
4 Fourier
r|x|-x*  xe[-z, 7] e xel[-z,7]
sin2|x|, XE(—%,% , T T
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6 Fourier
7r_X’ x e (0, 2x), {Xz, x e (0, 27),
2 _
0, x=0, 27. 27°, x=0, 27
X, x e (0, 1),
1, x=0,1
2
e¥, xe(-10),
0. xe(0.1), C, xe(-T,0),
) f(0=40, xe(0T),
2 C
e‘s -, XZO,iC.




nfln
1_i+i_i+...—ﬂ-_2 1+i+i+i+...
22 3% 42 12 3 5% 72
) 1 7[2
1 -
nzzl:n2 6

$ 1 g1 7
(2n)? 4Z4n* 24

22 3 4 ~'n ~(@2n)° 6 24 12
1 1 1 =21 & 1 S G &
4+ +=5+=) —— = =—
¥ 5 7 Z;nz nZ:;(Zn)2 6 24 8
sin x
sin x {x7,£27x,---,£nx,--}

21 =1 2&1 1
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n=1 (nﬂ-) n=1 (_nﬂ.) o n

O<x<2r a=#0

“, aCo0snNxX —nsinnx
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e a’+n?

O<x<2r a

sin2arz < asin2az cosnx + n(cos2az —1)sin nx
7 cosax = + E
2a ) a —-n




f(x)=ze*™  (0,27)

Fourier (0,27)
2a7r_
anzl_[2 f(x)cosnxdx:M n=012,-
70 a +n
2a7z_
b, :lj'z f(x)sinnxdx=—M n=123,.-
90 a +n
1
2 f(x)=rmcosax (0,2r)
Fourier (0,27)
a, =1I”f(x)cosnxdx=% n=012,:-
70 a —n
b, =ljhf(x)sinnxdx=w n=123,.-
70 a —n
2
3 X=1 sin2ax = 2sinarxcosar

sin2ar & asin2arzcosnr
+2

2a -t a’-n’

rcosar =

sinaz cosar = (-D)°
= " |1+2a’
a { nz_;az—nz}
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%, X #0,
27

f(X)=11In
0, x=0

[0,27]

[0,27]

Dirichlet-Jordan Dini-Lipschitz



f00 ={xcos%, X 0,
0, x=0
Dini-Lipschitz
Dirichlet-Jordan
. , 1 1
1 f(x) lim f(x)=0 x>0 fi(x)=— .=
Xx—0+ (|n%) X
f(x) [-x 7] Dirichlet-Jordan
a e (0,1] lim u” In—— =0
u—0+ 2w
|f(0+u)—f(0+)|: 1
u* u |In L
27
f(x) x=0 Dini-Lipschitz
x#0 f'(X) =cos& +£sin% x=0
| f(0+u)— f(0£) = xcosZ=|<| x|
2X
Lipschitz f (x) Dini-Lipschitz
0>0 f(x) [-5,0]



